- uMC==

TECHNICAL

| JetValves

Ambient Temperature -10to +90 °C
Fluid Temperature max +50 °C
Fluid Filtered air 50 um, with or without lubrication
Spool Mechanism Poppet system
Valve Function 2/2NC, 3/2NC, 2/2NO, 3/2 NO
Pressure max 10 bar
Control Manual, mechanical
Return Mechanical spring
Connections Threaded M5 or @4mm push-in fitting
Valve Orifice 25mm@
Nominal Flow Rate (NI/min) 70 NI/min

CONSTRUCTIONIDATA

Valve Body Zamak
Seals Nitrile rubber
Spool Nickel-plated brass

FLOWDATA

10.13

Flow rate characteristics

P (bar) PA (bar)
10
8 \\
10
6 \\@
B B 6
4 N \
T |
5 i
i
| \ | |\ | |
T T T T T
0 50 100 150 200 250

Qn (NI/min)

P =Working pressure
PA = Supply pressure
Qn = Flow rate




3/2NC

3/2NO

2/2NC

2/2NO
(b)

3/2NC

3/2NO

2/2NC

2/2NO
(b)

3/2NC

3/2NO

2/2NC

2/2NO
(b)

TAPPET VA[\'ES 4mm Push-In Fitting

Symbol Connection

12@:% 1 tube @4
acl] [Hjoe wbeos
ac T oo wbeos
WCE[]VW 10 tube @4

Symbol Connection

12@1% 10 M5
LT

Symbol Connection

12@:11 W10 tube @4
wal[ Tijus  ubeot

wel [Fue  wbeos

Force (a)

Force (a)

14

Force (a)
N

7

Weight
Kg
0,060
0,060

0,060

0,060

Weight
Kg
0,060
0,060

0,060

0,060

Weight
Kg
0,085
0,085

0,085

0,085

(a) =at 6 bar (b) = upon request 2/2 NO version

Part no.

AI-9000

AI-9010

Al-9020

Al-9030

Part no.

Al-9000M

Al-9010M

Al-9020M

Al-9030M

Part no.

Al-9100

Al-9110

Al-9120

Al-9130

Miniature Mechanical Valves

20 </| |of| |V
25

1.5
3.5

B
ﬁ”
R

I 24
< h/fg B a3 o Ll ?
- 3. Q
oy SR i
of L4 >KJ<
IRRESI 2N
H Q \/
AN .
6 16 14
30
A | Pre-stroke 1 = Supply port
B Valve fully open 2 = Outlet
C| Total stroke 3 = Exhaust
20 < ol [O
25 o | n
2 o - )
S Ny £,
E vz e M5
ul Y e -
= i 3y W © %§ Q
- - (m
i 30
:::W © mn

6|7 \ 93 14
16 14
30
A | Pre-stroke 1= Supply port
B Valve fully open 2 = Outlet
C | Total stroke 3 = Exhaust
20 c
[aa] ) E
@ @ 212 o
© oN o
=
(5 il M-m
. X E k\ L— —i
N
2 U o f%
<« 7 g N M5x2 Iui n .
N, Ve \ B
- 3 ’\“/ ©
Tf 2 j, M - N
= i 7S
I TG -
6|7 5&\ @3 14
6 16 14
30
B | Total stroke 1= Supply port
C| Roller contact area 2 = Outlet
3 = Exhaust

10.14



3/2NC

3/2NO

2/2NC

2/2NO
(b)

3/2NC

3/2NO

2/2NC

2/2NO
(b)

3/2NC

3/2NO

2/2NC

2/2NO
(b)

10.15

Symbol Connection

e s
12@:11]%10 M5

Symbol Connection

1?%]% 10 tube @4
o] Ve wbeos
ﬁw 10 tube @4
12%1]% 10 tube @4

Connection

M5

M5

M5

M5

Force (a)
N

7

Force (a)
N

4

Force (a)
N

4

Weight
Kg
0,085
0,085

0,085

0,085

Weight
Kg
0,085
0,085

0,085

0,085

Weight
Kg
0,085
0,085

0,085

0,085

(@) =at 6 bar (b) = upon request 2/2 NO version

Part no.

Al-9100M

Al-9110M

Al-9120M

Al-9130M

Part no.

Al-9200

Al-9210

Al-9220

Al-9230

Part no.

Al-9200M

Al-9210M

Al-9220M

Al-9230M

B
C

20

6.3
23

212

Miniature Mechanical Valves

6.8 min

30N

20.5 min
-
}—n—‘—ﬁ
e

[<<]
N
o4 2
L t—n
P Senk
L ©
= h\ 3\\\\\ %“\/(D %
Tl | Ea e N
. 5
YN (o)
?T 5&\ a3 14
16 14
30
B Total stroke 1 = Supply port
C| Roller contact area 2= Outlet
3 = Exhaust
| U
£
E
q & 20 E 13
r | 8 il L fn
SRS Y
{ : 23.5 1
n 212 \/XX/ - r _]
b ~ £
™ £ }_:. .:4
2 3 t
2z o 24 ©
S T— [
h (e Be 24 ©
N
§ & o "
L | P e )
° LHL "7 > <
LSS = —
6|7 N D3 14
6 16 14
30
B | Total stroke 1 = Supply port
C| Roller contact area 2 = Outlet
3 = Exhaust
o | U
£
E
Q « 20 ® 13
)
& \ oL
235 1 L
p < f
@ £ l.:u o]
? &
[ =
M5 [F= G
iy -
- 35
2 j, ¢ ° rg
¢ LS
(=] o
- )
ol &)
6|7 g&\ 23 14
16 14
30

B Total stroke

C| Roller contact area

1 = Supply port
2 = Outlet
3 = Exhaust




3/2NC
3/2NO
2/2NC

2/2NO
(b)

3/2NC
3/2NO
2/2NC

2/2NO
(b)

TAPP“ "AI.“ES 4mm Push-In Fitting

With built-in shock absorber

S

Symbol

Connection

tube @4

tube @4

tube @4

tube @4

Force (a)
N

14

Weight
Kg
0,082
0,082

0,082

0,082

TAPP“ “AI.“ES M5 with built-in shock absorber

Connection

M5

M5

M5

M5

Force (a)
N

14

Weight
Kg
0,082
0,082

0,082

0,082

Part no.

Al-9300

Al-9310

Al-9320

Al-9330

Part no.

Al-9300M

Al-9310M

Al-9320M

Al-9330M

Miniature Mechanical Valves

20
2 <| o U
® W 9
M12x1 S| ~| @
Rt
[3e]
® D
%ﬁ o4
S — e o4
i N
- ‘\L X
-~ 3 ©
M, | f e
of LH "7
IR
6|7 %\@
6 16 14
30
A | Pre-stroke 1= Supply port
B Valve fully open 2 = Outlet
C| Total stroke 3 = Exhaust
D/ Wrench 14
20
2 <| || U
@ w v
M12x1 o - ™
sl
3 D
24
- x M
INe | e
- 3 D
\ ©
2_1 -
e
@

30

A | Pre-stroke

B Valve fully open
C| Total stroke

D! Wrench 14

1= Supply port
2 = Outlet
3 = Exhaust

65

2

14

10.16




10.17

UMC~-=

3/2NC

3/2NO

2/2NC

2/2NO
(b)

3/2NC

3/2NO

2/2NC

2/2NO
(b)

PAI.M “AWES 4mm Push-In Fitting

Symbol Connection

N e wbeos
1@ 10 tube @4
1@ 10 tube @4
vgiz[:}wy 10 tube @4

Button yellow colour

PALM VALVES s

Symbol Connection

Button yellow colour

M5

M5

M5

M5

Force (a)
N

7

Force (a)
N

7

Weight

Kg

0,065

0,065

0,065

0,065

Weight

Kg

0,065

0,065

0,065

0,065

Miniature Mechanical Valves

4
24 17
o | U
— 20
©o N 2
wn
N
24
P
<
- W
e
©
Part no.
\ @3
6 16 14
Al-9350
30
Al-9360
B/ Total stroke
C| Valve fully open
Al-9370
Al-9380
M1
24 17
o | v
o ® 20
o N 2
['e]
N
<
e
Part no.
16 14
Al-9350M
30
Al-9360M
B| Total stroke
C| Valve fully open
Al-9370M
Al-9380M

=

e
fiasil
%%ﬁ}

v

1= Supply port
2 = Outlet
3 = Exhaust

S
2
)

14

1= Supply port
2 = Outlet
3 = Exhaust



Miniature Mechanical Valves

39.5
33

20
2 M3x22 24

Pﬁ“ﬂ. Mﬂll“T \'AI.“ES 4mm Push-In Fitting

m e [Eg%j
Symbol Connection Force (a) Weight Part no. < /A / 24 o
Iy Kg Q| - ING w® O
3/2NC ﬂCm © tube @4 14 0,075 Al-9400 Y L 2; > / ® N
ube 2 !
o o U S
2 —f 1 o R © f m
H] -/
3/2NO 12 10 tube @4 14 0,075 Al-9410 ~ I g& L,
3 1
) 6|7 | @3 14
2/2NC 12@ 10 tube @4 14 0,075 Al-9420 6 16 14
. 30
1= Supply port
2/2NO 1ZCE[]WV 1 tube @4 14 0,075 Al-9430 ouplp yp
(b) 2 = Outlet
3 = Exhaust
39.5
33
20
2 M3x22 24
un| mupia [E@ij
pap=Eam -
< A A M5 ©
Symbol Connection Force (a) Weight Part no. o &} N - -
N Kg o s B )“‘/«, %%
2; \ 2 0
3/2NC 12@ Wy 10 M5 14 0,075 Al-9400M =]
: | W 69 ‘ © P
2
3/2NO 'zmw M5 14 0,075 Al-9410M ‘6 7 ,i 23 * " i
N2

]

2 16 14
2/2NC 12ijvww M5 14 0,075 Al-9420M % 1= Supply port
T

2 = Outlet

2/2NO 12CE:[ Mm M5 14 0,075 Al-9430M 3= Exhaust
(b)

EBLACK Al-3511Q EBLACK Al-3522Q

HRED Al-3512Q
’
Rotating &[

Recessed BGREEN Al-3513Q
lever

button
|: selector EBLACK Al-3523Q
BRED Al-3514Q

EBLACK Al-3516Q I:

e
Head q:[ HBLACK Al-3524Q
button HRED Al-3514QD Lever
EMBLACK  Al-3516QD operator .
I
Gl £
e ;

BGREEN Al-3515Q EBLACK Al-3525Q

HRED Al-3517Q
HBLACK Al-3519Q

=

EBLACK Al-3520Q

)
Rotating

selector WBLACK Al-3521Q

Omni-
directional
operator

Button

i}

EBLACK Al-3526Q

Push-pull
operator

q
(a) = at 6 bar (b) = upon request 2/2 NO version
For actuator dimensions refer to section “Accessories>Actuators”

10.18



